RANKING & SITTING
ARRANGEMENT

10
CHAPTER‘

Sol.

Sol.

Sol.

zrzi

info@spardha.guru

Rohan's ranked seventh from
the top and twenty sixth from
the bottom in a class. How
many students are there in the
class?

e =i feafy wan & (3) IWA 7 9
= § 26 2, dt g we1 o wo G
foremeff &2

(a) 31 (b) 32

(c) 32 (d) 34

Trick:- Total = Top+Buttom-1/
fem:- FA=FW + 94 -1
26+7-1=32

Sam ranked is 9th from the top
and thirty-eighth from the bot-

tom in a class. How many stu-
dents are there in the class?

Im =t frufy =a § w9 0 = Ten
4 @ 38 2, @t awed wan ° wHW
fraa faemeft €7

(a) 45 (b) 46
(c) 47 (d) 48
9+38-1=16

A class of boys stands in a
single line. One boy is nine-
teenth in order from both t
ends. How many boys are t
in the class?

UF w6l § A Uh i %@%
eigehl <A1 fHd | 19 i

(a) 27 .

) 38 P
19+19-1’ =37 ¥
Manik is fourteenth from the right

end in a raw of 40 boys. What
is his position from left end?

wifte &t feafq 40 @2t #t v# ufaq F
<t s § 14 o7 &, ol we! &t s
o frofs =n =017

(a) 24% (b) 27®

(c) 26%

(d) None of these/z7 4 Fig &1

5.

For important formulas to determine the
positioning for single person

Ranking Test

o 2)
Left+Right=Total+1
Top+Bottom=Totalt 1|

Left=Totalt 1-Right
Bottom=Total+1-Top

(%) If
Total=Left+Right-1
Total=ToptBottom-1

—=Bottom /left and botm«nﬁefg ﬁgen take(-)
=Top/ Rxghtd.ndTop / R_lghg, then take ()
=Left /Top and rfghtjﬁéttom then take ()

.

}' v

Trick:- Left=Total+1- nght/ﬁfﬁ

feem:- Im==a+1-31¢ .0
40+1-14=27

49t students of a class i‘i”tln

gets 18%® position ‘from ﬁtart
What is the ran_k Ni‘tm from
end?

49 Faenfeat af:rfw‘amﬁ faf &1

&% o 5»“

\\-:95

feafg urw I&?ﬂ% q o= g ff
+ feafa & zﬁ?

@) 78Dy () 19

(e}~ 3L~ (d) 32

So).\49u; 1-18=232
6: ,vhl a row of students. Mohan is

Sol. Total students /=%

7.

“the 13 from the left end.
Suman 1s 12% from Right end
and 18% from left end. How
many students of Mohan's
right?
ferenfefai &t v dfem # diea =t feofs
St o & 13 o €, ao gua w0 fefa
TR AR H 12 3 9 @it 3w g 18 Ff
# 9 Higa # Tt 3i e o fermeff 22
(a) 30
b) 15
(c) 16
(d) Can't be determined/s\ 7&f
ERIEEIEED

Toramedf

= 12+18-1=29
So/z@felr, = 29-13=16 students
of Mohan's right side/21: Tied
% wrt S w16 famedf &
In a class of 40 students Sachin
is 15® from the top Siddharth is
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12th from the bottom. How many

boys are in between Sachin and
Siddharth?

40 famfefi =1 v Fan A, 9fFm 3w
gi5dafaged 4 9 12F w9 W
2, 1 adqied gfem 3 fagd & s o
i we® 87

(a) 15 (b) 13

(c] 12 (d) 16

Trick:- Total-P, Position + P, Po-
sition /f&eh:- Ha-P, feafa + P, feafa
P, Person—-1 Sachin

P, =Afa-1 e

P, Person—2 Siddharth

P, =afad -2 fagred

40-(15+12)

40-27 = 13

In a class of 80 students
Mayank is 13® from the right
and Ritu is 18® from the left how
many students in between

Mayank and Ritu?

80 faafef=i =t v% %an w4 *1 54
¥ 1345 fig a3 | 18 o &, @t wanedi
fig 9 W% F o9 @ fpad faeneff 82
(a) 49 (b) 48

(c] 38 (d) 50

Trick:- Total — (P,+P,)

— 80 - (18 +13) =

TYPE-2

A 1s 10® from left and B i1s 15%
from Right. When A and B ex-
change their Position then A
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becomes 153%™ from the left.

What is the new position of B

from Right?

A H 104 FHRAIBA A 15 %A

WE, 5@ AT B MY § A9 HH a5

& A A wH el SR @ 15 9 € S

%, @ B ®1 2R A § = wE ma@Er

(a) 18 (b) 20

(c) 19

(d) Can't be determined/sd &l
o =1 HFar

difference between A's new and

old position/A # T 3K TH T

1 3at = 15 -10=5

B's new Position/B #1 T ¥UH

15+5=20

Trick:- In earlier which ques-

tion, double information was

given in that question we find the

difference between old and new

position than this difference add

on his old position which new

position have to be find.

Trick:- Tgel f5g oW + an 4, 47
G < T off, ST e e 3 e
T 3R 1 T4 T © 990 R 38 SR A
ST 1 T ST T € SEY 39 SRR
F Sig 30 8 aw +E feafa @ SRl %1

Note- In this type of question if
information was on left side
than position remains on same
side as given on both side. If left
1s given and after change right
side find then answer of this

type of question is can't be de-~.,

termined. ™
T YFR F Y H T F
T @ 3 A TR 5,9 W
2 #@r aw I F R aﬁ%h%‘rn
i afz wee A ﬁ’raﬁiwaﬁ
o 7w B & % e IR T T T2
Ais 13““}&)1’1’1&3 B is 18% from
bottom ih@wﬁ and B change
their position then A becomes
21* from top. What is the new
positionn of B from bottom?
AFIFAFR G 13w 9 Bw %094
§ 184 & i & 99 H A T
TEEd T A AF HH S Y 21 7 @
W E, A A= ® B w9 feafy @
BITH?
(a) 27
(c) 25

S

(b) 26
d) 28

| o

Sol. 21-13=8
18+8=26
11. In a row of a students, Mohan

is 10® from right. Sohan is 25%
from left. When they change
their position then Mohan be-
comes 22 from right. What is the
new position of Sohan from left?
forenfof=i =t o= «fm =, JeT = F9 6
AR ¥ 103 2, WA & w9 a0 AR
254 %, W 3§ o ™H aSen &,
e F1 FH I AR G 22 & & W g,
A HET F1 A SR H T FwE Swed?

(a) 35 (b) 36
(c) 37 (d) 38
Sol. 22-10=12, 25+12=37th
12. In a row of girls, Kamya is S™

from the left and Preeti is sixth
from right. When they ex-
change their position, then
Kamya becomes 13% from the

Sol.

15.

position. then Ram becomes 29%
from the nght. What is the new
position of Shyam from the left?
s ufe o 1w =t frafy g @ g 23
o 5 vam Ft frafa a4t oG 34 &
2, 59 3 st feafd ager € 99 I H
T TR 3T | 299 @ W g1 A v
=t A IR W T feafy Smied?

(a) 39 (b) 41

(c) 40 (d) 42

29-23=6, = 34+6=40

In a class of students Rita 1s
15th from the left and Sonu is

18th From thegéght. When they
exchange‘t yosition. Then
Rita bec?- 9th from right.
What is fh‘é new position of
Sotitr. frc‘B'n left?

o Tl T A f e

%

left. What is the new pomtwnf;

of Preeti from right
wEfFdal T UH U, w
mnSaTaﬁﬁlaﬂﬂa‘rﬂ@%
T S A T FH m%m
T H HH AE Y Wmél
Hfa #1353 9 maman?

(@) 7= 22 !91311

(c) 14 {” \J[d] 18

Sol. 13?@2%3\845’6 14

13.

%
7

ép \au;@w of children Deepti is

th ﬁom the left and Kashish is

{y‘iﬁﬂ‘ from the nght. When they
exchange their positions and
then Deepti becomes 18% from
the left. What 1s the new posi-
tion of Kashish from the right
end of the row?

Tl 1 T ofea o Sifta w1 e et
AR ¥ 9 &l | wie W W g aR
T 139 ¥ T F 0w T A =
e € @ Sift & T A SR 18
T B S, FHGW w1 EE SR g T
TH a7
(a) 22

(c) 27

(d Noneof these /398 o #ig &l

() 25

Sol. 18-9=9,
13+9=22
14. In a row Ram 1s 23" from the

right, Shyam is 34% from the left.
When they exchange their

o0V

Sol.

16.

Sol.
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ﬁtﬂlSmawmaﬁﬁqﬁw
1 W 18+ 7, 5| | a7t frafq o
H wgerd € W tm W feufa <@ ww |
19 & & S 21 G #1 af @ g 7
feafa amea?
(a) 22
(c) 23
(d) can't be determined /3@ &l
& =1 g

(b) 21

Because in this question posi-
tion after the changing the di-
rection does not change hence
answer is cann't be deter-
mined.

<fh 39 999 o feufa ager & 1vae dar
= ferfs @A = el ferfa @ R @
T | w1 e ffa aw @ w .
Tl

In a birth day party Ram stands
36" from the left and Sochan
stands 48 from the right,
when they exchange their po-
sition. Then Ram becomes 48%
from left. What is the new posi-
tion of Sohan from right?

UF e w1 qEl A T il SR 9
36 =1 9 Wied giEl 7 9 48 9 TuH W
W %, WA 3 ATE T T
FEd Bl 99 W HOTH 4 T g
T B T s o e 1
T T T2

(a) 58 (b) 59

(c) 62 (d) 60
48-36=12, 48+12 = 60
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Sol.

18.

Sol.

19,

2745
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TYPE-3
In a row of boys, if A 1s 10th
from left and B 1s 9th from the
right and interchange their po-
sitions, A becomes 15th from
the left. How many boys are
there in the row?
wEH! FI TF o o, Afz A o R 9
104 3 Bt st 9 9 § T9° W Eel
¥, U1 SIE § 9 TUE "5eE W A
T AT W 159 TIF W o W 8, ar
s # eigl i He Fedi|
(a) 23 (b) 27
(c) 28 (d 31
A's new position+B's position — 1
AR WA+ BF -1
15+9-1=23
Trick- In which question
double information is given, it's
new and old position (changing
after position) for that question
subject of single information's
position add and then —1.
Trick- {59 yva % ar # <M g= &
T €, format g 9 = feafa o,
(frarf agem & 9R) 39 3H FT ATH
S A 1 e g Pl # e
@i
In1 a row of girls, If Sujatais 10th
from the left and Namrata is 9%
from the right, interchange
their positions, Sujata becomes
23rd from the left. How many
girls are there in the row?

wTefFdal w1 TF G |, 9 gerar =

F105 9 @ a3 § 9F wWH WE,.

STt fefd aaer o, e w1 e A,
¥ 23 91 8 9. g, a‘lﬁama@%ﬁf

I HEAT A ? «{g o’
(a) 32 (b) 3 ‘

(c) 30 (d),/34. .
Sujata's new “Poésition +
Namrata's Po%&i\ﬁi‘i‘n— 1

HSAl T A1 AR+ TS FT T —1

o
23 +9- 1{='31
In a row A 1s 12% from the left
and B 1s 27% from the right in-
terchange their positions, A be-
comes 18* from the left. What
is the total number of people?
TF iR HAF A AR § 129 9
Bl 8 § 27 9 2, =98 §
ST 39 ST & TY, A T T
4§ 18 o 8 = 2, d wma sfwEl
FT T A ?

Sol.

20.

Sol.

21

Sol.
22.

(a) 44 (b) 42
(c) 43 (d) 40
18+27-1= 44

In a row of students Deepak is
17% from top Sonu is 32% from
bottom interchange their posi-
tions. Deepak becomes 37%
from top. What is the total num-
ber of students?

faenfifai #t o o\ A <o F1 E
FR Y 17 af a9 9 &1 = A" "
32 %, H99 § U ©H 9o &
%1 €9 & IF SR E 37 9 g1 5
#1 = faenfobii #1 won wmE

(a) 68 (b) 69
() 67 (d) 64
37+32-1=68

In a row of boys If A is 20% from
the left and B is 16™ from the
right, interchange their Posi-
tions. then A becomes 30" from

=l # T e o, afg deq
AR 9 14 9 9w 1= =4 3 g 19
3 T W EE §, araE § orT e
e e | e e e =1 e 2
§ 18 & & i €, df =aeh i o
e =afam 272

(a 35 (b) 36
(c) 37 (d) 38
Sol. 19+18-1=36
TYPE-4
24 Suresh i1s 27th from left and

left. How many boys are there 'f;',e

in the row?

EH F1 U U H, WAW«
oI R

ﬂWHQOETHQ}TBﬂ?I

WE ¥ 16 9 &, A aamﬁ

A W, T4 A H ﬂf@wﬂ}tﬁﬂSO
af & s &, @ ¥ EeH # F

maﬁ'{&n@ K

@) 46 ) ®) 44

© 4 {é\w (d] 48

30+16-¥=45

E’H a f"’éw of children Deepa is

r\l\?‘fh from the left and Vishal
~ Lds 19th from the right, inter-

Sol.

23.

change their positions then
Deepa becomes 19th from the
left. How many boys are there
in the row?

o=l F TR Ul W SO T =
WE F 12 91 aen favm &1 o= 3
TF ¥ 19 9 2, 309 § 0 e
Ao & A% q9 91 1 TE Al i
A 19 & & Sl g, dl ufed § oigEl #
= A7

(a) 36 (b) 38
() 39 (d) 37
19+19-1=37

In a row of people, If Mohan
stands 14th from right and
Manish stands 19th from left, -
terchange their positions then
Mohan becomes 18th from right.

How many people stands in row?

P 2"; WJ

25.

Sol.
26.

Copyright © All Rights Reserved | https://spardha.guru/

Ramesh i1s 27th from right. If
total 49 peopde’in row, how

many pe ﬁ‘ween Suresh
and Ra{?;?;hb*
wﬁmmmm?mmrﬂm

w\mﬁlafmﬁ:z?m%l TR i

Pl 5

*ﬁaﬁmaﬁmm@m GERIE |

© g s v = B SR 3

(@) 4 (b) S
(c] 3 (d) 6
Trick:- Position of first person-

1 + position of second person —
Total person — 2

So (-2) because one position
(P,) and other (F).

Trick:- T% =afad =1 feafq -1 + gt
=fe wt feafa— w@ =afaq - 2.

THfert -2 g FiTE THE e 9 gEU
AT =g wfmfem %I

=27 + 27 — 49

=54-49=5

=5-2=3

Rohit 1s 17th from left end of a
row of 29 boys, Karan is 17th
from the right end in the same

row. How many boys are there
between them in the row?

29 Tl =l us ufsd # Ufea &1 wam i
TE W 17 S I S BR W A W
T T W% " 17 5 2 S E, A adsd
o § 39 I F a9 R oS 82
(a] 3 (b) S

(c) 6

(d) None of these/z#H ® i &l
17+ 17-29-2=3

In a class of 40 students, If

Kashish is 21th from right and
Deepak is 23 from left, How

www.spardha.guru



Sol.

27.

Sol.

28.

Sol.

29.

Sol.
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many boys are there between
them in row?

40 famfel=i =t v wan o, e Hfewr
1 I i U W 21 & a9 SiaE
WA FE w®F § 23 & 8 S g
amst dfed § 31 G ® W9 H e

33-6=27
Trick:- Total =
position — number of person in
between both + both person/
F = 3 * feafa w1 Am - <A &
o= =fEal w1 e+ SH At

sum of both

44 weHl #t uF v A, famg w5 e
a4 W 12 9 991 W F E R O
H 179 ¢ wm ], A wm #
farersgel wea ¥ 2l foa o € & "
frat o= €2

(a) 3 (b) 4
(c) 7 (d) 8
44 - 12 + 17

15
4428 =715 =3 ?=7.5=7

In a class of 79 students Rita
is 40* from left;and Simran is
33th right. Priya is exact
middle of ita d Simran. How
many {t1 X Ents
simran, and Priya?
79"“’ FH1 TH e ¥, T w1 e

9 40 o7 e foae &1 e

between

wGﬁTFSSaT% =ty fm, T =

foameff 37 30. In a class Deepak is 29th from
' top and Rana 1s 18th from Sol
(a) 3 (b) 2 bottom. If there are 6 boys 0%
(c) 4 (d) S between Deepak and Rana,
23+21-40-2=2 Then how many students in
In a row of 29 boys, If Rohit is class minimum? 33
19th from left and Karan is 19th F Tl ¥ 40 F W TR Y 20 5
from right. How marny boys are T L
there between them in row? y T 4t
20 Tz = wE W, A j“”ﬁm“ﬁﬁ?(ﬁ@;”’ﬂﬁm
. . wEHE = T 7
A Fif TF | 19 & a0 FH F w=E R H % mEl ] o
< T ¥ 19 o @ W g, A aasi Ea]] z; [(z; 2§
3 - - L g,w\
[ERERGEC TS
?T:FﬁE[:??' : & S0l.29 + 18- (6 + 1+ 1)
a
47 -8 = 39
(c) 6 @ 8 A
19+19-29-2=7 TYPE-6 oy Oy
Sy St
In a class of 40 students, Deepti 31. In a class of 49 students] .A\"S
is 26th from left and Rani is the 17th from top and B, fs,&'ﬁ‘e
26th from right. How many 11th from bottom. I&QXS_C‘II
students are there between Middle of A and hmg many Sol.
them in row? students betw: B"’éﬂd C 34
40 famifedal 1 ww wan A, Afw 49 faenfeat qwﬁ%mﬁAmm '
T AR TF G 26 9 a1 T F WHI? qﬁgmvmﬁaﬁllm
<R Tw W 26 & ¥ € S 2 A g &ﬁBﬂ?ﬁﬁﬂWﬁme
fe w9 A F s e franedf $2 Qlﬁﬁﬂ)C?W forr fereneff
(a) 9 (b) 12 2o (b) 10
(c) 10 d 11 CQr) 11 (d) 12
26+ 26 -40-2 =10 -~ Trick:- first we add that
N\ positions after that subtract
TYPE-5 - {*w’} from total and then divide by 2.
In a row, Rita 1s 15t fé;f?}‘feft foreh:- Be fomat frufs femn 2 o= -
and Madhu is 18th{rom" right. - N
™ FL A1 5 SHF 9% Fd ° 9 W FE
If there are 4 ?g}gvubetween = =
Madhu and Rita,“then how 2% | A S Sol.
many numbeﬁg total girl in Step /=woT
a row minimum? ) 17+ 11=28
F uf ), &mwwﬁmnls -
f g 7Y W T g SR g 18 9 €, (ii) 49-28=21 = — =105
ST HY S <A F A 4 e Let it be 10/F 10 #r#
e dt i 7 asfeal @ ga e answer will be 10/3w% 10 gm
wen et 37 32. In a row of 44 people, Vinay is
(a) 26 (b) 27 12th from left and Ramu 1 17th
(c) 28 d) 25 from right. If Sinu is exact
15 + 18 — (4 + Rita + Madhu) middle of Vinay and Ramu. .How
many people between Vinay
33-(4+1+1)

and Sinu?

Copyright © All Rights Reserved | https://spardha.guru/

faom & usEg "er ® shoa "aed
foq 9 fien & wea fea ferneff 27
(a) 4 (b) 5
(c) 2 (d 3

79—40—33=6:>g =3

In a row of 40 children, P is
13th from the left end and Q is
9th from the right end. How
many children are there
between P and R. If R is 4th to
the left of Q?

40 s=41 FI UF ulda o, P =1 T 94t
TE § 13 5 a1 Q %1 TF gt T o
o4 % PR3 wer fead =3 21 fy
R& @A Q % = o ¥ 4 = 7
(a] 12 (b) 13

(c) 14 (d) 15

Q = 9% from right and R is 4® to
the left of Q. So R 1s 13* from
right

Q &1 M A ¥ 9 57 gu1 R %1 =,
Q% a4 | 4 o &, wafew R %1 wF
T4 @R | 13 af g

total number of children to the
left of R/R & a4t &1 === &1 /o
mEm =40+ 1- 13 =28

P = 13% from left/=id @ 13 =f
28 — 13— 1= 14 (in between P and
R)/Pa R% 97 28 - 13 - 1= 14
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35.

In a row of boys, A 1s 13® from
left and D is 17* from right. If A is
11th from right in this line what
1s the position of D from left?

wEH Ft UF Ul W, A 1 T 99 W
¥ 13 o 9o D %1 WH b e § 17
af &, A% Aw e g @E g 11 &
B a w@e D 1 E WE 9 | e,
(a) 6 b) 7

(c) S (d) 8

Total/%et = left/=l + right/<fw — 1
=13+11-1=23

-+ D 1s 17th from right/

D&l frafa a@ & 17 o €

= Total /=& + 1 — right /=T
=23+1-17=7*

Sol.

36. In a row of boys, A 1s 15th from
left, B 1s 4th from right. 3 boys
between A and B, C
immediate left of A. What is

the position of C from right?

s

EH F TH Gl A, A T T =i
T 9§ 15 & a1 B &1 @I 6 a
¥ 43121 A9 BF 9= 3@ &, a0
C, A % UFgn @it @@ €, °f C 1 <t

WE | T Sqei?
(@) 9 (b) 10
(c) 12 (d) 13

Sol.

» C 1is on just left side g A::w}

. C,A® TF 79 90 ?"'
% Cis 14® fro aff‘ b
% Camd 14 ﬁ wE
(Total /. 23] Left/ i
Pugiiion ol @ fom right/=w @
Cwmema s =22+1-14=09
SEATTINGARRANGEMENT

TYPE—(I)
Circle based/gm W snenfa oA

O If facing toward center/¥& &
F% F R 2

ZTSI

info@spardha.guru

Total/F@ = 15+4 +3 = 22,{“*\.\ D

B

[clock wise) left {Anticdock wise)
RS B

Q If facing towards center out-

side/7fx wa @%@ faoda o H &1 2

E

H F

(cloclk wise) Right' Left (anticlock wise)

&

]
Note: 'And' in a statement denote
the first subject and 'who' de-
note the besides of subject
el ofi e § 'Sl BHw deel ol
Fal F1 S w2 Fen ‘S afafem
w4l #1 FIE Tl

e

For Arrangement we have to
pick that point in which we 3
have more information. AQ
after that we have to con W’"“’é
to related point.

el o & T e a:rr@'f-m
T 39 fag 9 I® j}?ma%an
q g4 e | »ﬁgﬂ‘é’fﬂ'ﬂ’r%l Eieg

I I 36 sy W el
z@iﬁtﬁ#aﬁﬁwﬁaﬂﬁ@m T

1. Six “““"A B,C,D and F seat-
i 1;1 4 cn"cle facnlg towards
Ce“r};ter E is the left of D. C

e »};eats between A and Band F is 3.

~ “between E and A.
6 fas AB,C,DI FU% 31 # %5 ®l
TWH G &% 93 g4 €1 E, D % ot
AT HA 31 C, AT BF F9 § qen F,
Ed A d= § g1 2

B & UHeH il R ®H w21 72
(a) C (b) D
(c] F
() None of these/zm & FiF Tl

. (b)
P,Q,R,S and T are seating
around a circular table. R 1s to
the right of P and second to the
left of S. T 1s not between P and
S. Who 1s second to the left of R?
P,Q,RS dn T U& g Ha & =W
@ 96 21 R, P& gl HiL qwr S &
il ﬂhﬂ?m%" &PE{SEﬁEﬁHﬁ

T ¥, RSB T FH &2
(@) L K_? @'
B T o™
[d]ﬁb\fi%afinadequate}' A 2T
o 57
Wt \3\«‘*}
g:} 3 S
Q i
R
Left ™5 SRight
[Because R have more

information that why R pick
(5% R% 9t § g=m w1 81 7t %0
2 & R =

Answer:- Q sit second left of R
Q 1s 2nd to the left of R

Ans > R#% 5@ ga0 Q a1 ¥l
AB,C,D,E and F are seating
around a circular table. A 1s
between E and F, E is opposite
D and C is not in either of the

neighbouring seats of E. Who is
opposite to B

AB,CD,E @ Fus g ¥ & =

(a). Who is seating immediate right A -
of C2 WA e, AEIFF IR HEDS
. . - famdia et €, C o AE o IS T @
C % U#HeH AR HA W3 87 i 3 :
) A wgc : dt amst B# faufic #6 da 82
) B @F (a) C (b) D
(c] F
sabia) e A (d) None of these/zW 4 HE &
c Solfe) C
Left B..
©__D__sRight E D
(b). Who is sitting immediate left Left F..
of B? " A__~Right
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First we have to arrange A in
between E and F then E oppo-

site to D and B opposite of F
e E a9 F & &9 A %1 et fFar
T it E® faufe Dawn B, F &
fauf a1 #

4, Sixpersons A, B,C,D, Eand F
are standing in a circle. B is
between D and C, A is between
E and C. F is to the right of D.
who 1s between A and F?

6@ A, B, C,D,EaFu® gqd § 43
fIB,DaCsdad @ e AET
C# = 4 da1 ¢, F,D % g4 iR dar
%, @ sell A" F & o § @ e 87

(a) B (b) C
(c) D d) E
Sol. (d) E
A
C F
D
Left\-—B s Right

First we have to arrange B in
between D and C then F is to
the right of D then A between

E and C.

Teel DAl C % |04 B #i =aafeem
FA R FRI DF @ fR Eqen C#
a9 A F Faftga F

5. Six persons A,B,C,.D,E and F
standing in a circular boundary

facing towards center. B is be—
tween F and C. A is between"

and D. F is to the left of D M)

1s seating between A an “F

6=fm A, B,C,D,Ew w*qﬁq
% 1 R qo # a2 B, F aun
CwdamH A E @aﬁ"aﬁanﬂa

21 F, DEh‘ElTs‘ fiarsamahlr

B i
A e F'aﬁﬁﬁﬁ#l Fa1 &2
(a) E (b) D
(c) C (d) B
Sol. (b) o
B,
F E
A
LeL DJnght

info@spardha.guru

First F sits D's left and D in 7.
between A and E, B in between

F and C

gad eel F, D % a4t @it 3fn D, A
AR E® o= § 901 B, Faa C& wex
wrfted i)

Eight person A,B,C,D.E,F,G and

H are seating as showing be-
low figures. And if they are fac-
ing towards outside. If all per-
sons move two position in clock
wise direction. Which direction
H facing after move two position
from current one?

sz =f@ AB,C,D,E, F, GaHAr SOl

e T faEn 98 #) qen 3 ael &
R ¢ R @ 21 ARk wedi safe =€
F g F fRem ¥ 2 T w@ #o@
FamE fowm 9 2 WHE 9.9 & 95 H #1

South

After Change two position clock
wise direction

: ; " Sol.
wfeqorerd f&En W § TIH 95O W ©
North
G
North
H East
West E A East

Copyright © All Rights Reserved | https://spardha.guru/

Six girls standing in a circle
facing towards center. Sabbu is
left to the Pappu. Rewati 1s be-
tween sabbu and Nisha, Aruna
is between Pappu and Kirtan.
Who is left to the pappu?

6 wEfFal UF 99 ° H9 & A0 GE
wE @E T e, T & A 3R 2
T, e 9 fen & o= | qen arEv,
T F HdA % = H 921 1 I % =i
ST w87

(a) Sabbu (b) Kirtan

() Nisha JAruna

(a) First we j e Pappu and
Sabbu afﬁ%r tlyu Aruna in be-
tween %‘ppu and Kirtan after
th@&ﬁéﬁ&fﬁ mn between Sabbu

an isha

T fag faem A gmm? Z'ﬁﬁa‘qmnﬁmmwwﬁﬂ?
(a) (N.E)/(3w-7d) { Y ge o st fa weg iR e # A
(b) (N)/(3¥R) LAY e emfem fen
(c) (N.W)/(Sw-ufe=m) 0y o MNisha
A B)/5 Q} e
Sol.(a) North vg“ ;;, Sabbu Kirtan
NW _\.E;,_} J  as®
v Pappu
Sabbu is left of Pappu/¥s, 9] &
At s #)
8 Six friends M, N, O, P, Q and R

standing in a circle. N 1is
between O and P, M is between
O and Q. R and Pis standing to-
gether. Who 1s standing

between M and R?

6a M,N,O,P, QuenRu& 39 #
@2 N,0aP#Hd=d MOgQ
Fd=H e, R Pus mo @2 ¥ &
Mda R% d= § %1 @z 22

(a] N (b) P

(c) O (d) Q

(d) Here is possibility of two
arrangement /¥ gl 3 UFIT FI
A F g 2

Left : Left :

w, N ﬂRJgh‘t w__N pRJght
(i)

Q in between M and R/M 3it R
% &= Q wel #
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Type-2 Square based Ques-
tions/=E9-3 a7l ¥ smenfia wod

When facing in side/~= J& #i5

F HR T
North
West East
Left\‘__/South\\_/Right

When facing out side/¥d @ #=5
% fagda &

L

b 3

Right Y

\_,./ \J
Directions (Q. 9-10):- Four f{riends
A,B,C and D are playing carrom. A
1s facing towards south, D is facing
towards East, C is facing towards
west and B 1s seating left of C.

frder (w. 9-10):- =1 fig AB,C a D %
il ® B A % Tg g fien &t e, D
He 7 &I 3R, C %1 ¥z ufe=m %1 R 991 B.
CF abh o da1 2

9.  Who is seating right of C ? (Ans — A)
C® =t iR #1 Far 27

Who is seating front of B ? (Ans — A)
B g i ¥a1 £2

A Right
+

10.

table in such way tﬁgﬁ our sit at cor-

ner and 4 mp»gt \mldg:lle one who sit
&y

at corners facﬁig out side and one

who sit at middle facing towards cen-
ter, P 1s 3rd right of S and facing to-
wards center. Q i1s 3rd to the left of M

but M is not sit at middle. One person

between Q and R. R is not neighbour
of M, T facing towards center. K 1s not

neighbour of R.

fr¥w (Q.11):- KLMPQR,SaTU%
ity 79 # 9% R W R A8 E fE
IR US # fEA W A9n 3 wem § a8

273!

g W A9 fERl W A3 € 3 e A
FTE T CE TN OFA F A § I e B
F1 90F 21 P, S % 24 @ drow qon B w1
TE e 1 Q, M F 99 ¥ diay wifeq us
71 ¥=1 21 tw =f QA R & dt= #9 2,
R, M &1 wgiEt 71 €, T %1 ¥ 5 51 T0%
? K, R =1 w2rdt = 2

D% =15 21 #1 D aift 9~ W a1 &1 a9 T,

1% @ 31 2

12. Who is seating 4th to the left
end

M B W Y E W FA 49 22

o XA L

SQUARE BASED QUESTIONS
a0 uv Aenf| e

TYPE - 2
13. Four gitls and four boys sitting in

a square facing towards center.

14.

Copyright © All Rights Reserved | https://spardha.guru/

Each of them sitting on the cor-

ner of square and middle of square.

Madhu is diagonal front of Usha
who 1s seating to the right of
Geeta. Rai is next to Geeta and
front of Gopi who is left to the boss.
Seema is not right of Madhu and

front of Prema. Who 1s seating

infront of boss?

11. Who is seating between Q and R . .
. o A 2 =R TSIl a1 IR @S 91 1 STHA
QER= 7= ' % AR 43 #1 7o w1 o B A
(a) P (b) L i 81 38 | werw =t F = W aen
() M (d) S genai & weg faga w a8 #)
L & .® mgma%ﬁawﬁﬁwn%aiﬁﬁﬁm
v
T — Q
)
M s K
TYPE-3 ROW/LINE BASED o
7
QUESTIONS ua‘m’\sﬂ T A &1 91 E
&) Geeta /Tl
2130-3 ufem AEr W s wew f Y (b] Prema/¥m
3] ‘{", “”; (c) Seema/dtH1
Left Right~
? ©) Q (d) Madhu /74
(when North facing] /: 1% 3T Sol. (a) Gopi Seema Usha
F 3 2 m w‘ 7
When South f'qﬁ T JiE00 Boss|> «|Geeta
F SR B fg‘\,,} A
R:nght —\—b-—f Left iﬂes;?hu s Ei:i:t
Dlrec}l.g%pélZ] 6 students seat-
ing, i a jow P is seating between L Sarita
ag’qu}; L is seating after N. N is sit- +
_ ting “after D. D is seating left end. T
‘{9‘ }s seating after L. Krishna <+ 4+ Meena
Frdor (Q.12):-6 famneff um uf # 53 21 P,
LT 1% 959 931 €, L, N % =% &a1 €, N, Left t Right
Seema

Radha, Sheela, Mahima, and
Seeta sitting around a square
Table. Radha is right to the
Sheela. Mahima is left to the
Seeta. Who is sitting infront of
each other

T, ST, wiEm qen Hiar fRe AmiEmn
9 & 91 AR 43 & wen, sien $ <A
i 21 ufem, dar & atd @ 2
ST HE-HE G187

(a) Sheela-Seeta/wfar-Hta

(b) Radha-Seeta/Ten-giar

(c)] Radha-Sheela/@en-viten

(d) Mahima-Radha /#fem-tHr
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Sol. (b)

Left
Sheela + 4+ Mahima

‘%%k Radha

¢

Row and Line Based Question

ufe agr Yar uw snenia we
15. Five friends A,B,C,D and E are

standing in a row. Facing south
but not necessarily in the
same order. Only B is between
A and E, C i1s immediate right
to E and D is immediate left to
A. Which of the following state-

ments is definitely true?
g9 fmm AB,C,D @en E u% dfe |
e &1 aen welt F ga g i S )
wffT =i 72 fF =t FH e AT E
% ueg #aa B 7, C, E % 5 a4t 3l
% a1 D, A% g art S ¥ T g
F 9 He Flew €9 § 94 87
(a) B is to the left of A
B, A% 9t @in ¥
(b) D is third to the left of E
D, E % =it dwu
(c) B is to the right of E
B,E & =rft o €
(d) A is third to the left of B
A, B# aid dww &
b)) Rt Left
CEBAD
A,P,R,X,S and Z are sitting in a

Sol.
16.

row S and Z are in the center.

and A and P are at the ends
1s Sltt].t‘].g on the left of A.

e 41 o, ¥R @ e § fe w20,
q A T gy, WA @ B € A oo
F Hay e w4 22
(a) Sushil/®efa AR
(b) Hardik /erfés®
[c) Hari/®ft
(d) Roshan/TvH
Sol. Roshan, Sushil > Hardik/
TyH, gIfa > wfd®
Hardik > Nija > Hari/gifd=®
> Jrar > &ft
Roshan > Sushil/3yA > gefta
Roshan > Sushil > Hardik Sol
> Nija > Hari/4919 > gyia
> gifd=® > isn > 7k 51,

18. While the group photo of a family
was taken the father was found
to be sitting to the left of the son
and right to the grandfather.
Mother was sitting to the right J
of her daughter but left to ﬂ%g

grand father. Who is OCW
the central place? ﬁ}

& frdt ufem =1 1% ®

S ¥ < ue S & R ﬁ'arrefr
méa%wma"ra:ﬁ &1 v,
ﬁmaﬁm%ﬁﬁ)‘ﬂmﬁw

AR B w= ﬁq@wmqmﬁa%?

(a) §,9~ﬂ

[b] ‘crr dfather/?l’r{'ﬁﬁ Sol.

w}’ather/ﬁ'cl‘l
yd] Mother/Hrr 99

~Sol. (b

t t 1 t

Daughter MotherF‘ather Son
who is sitting on the H%&t Nmﬁj
t
#H S

APRX,Sde Z TF 1:“

qe Z &% W& A A SRR % 37
% # R AF amq BT e @ P®
i g
(a) A S
) X "~ 77 z

Sol. (c)
Right f—p—7— y Left

A R § Z P

Roshan is taller than Hardik.
Hardik is smaller than Sushil.
Nija i1s taller than Hari but
smaller than Hardik. Sushil is

smaller than Roshan who is
the tallest among them?

dvm, ot @ 31 wfE geie @

Tl
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19. Five schools A,B,C,D and E
whose face is towards north. A
is between E and B while E is the
right to the D. D and C are at the
ends. Who i1s left to the C?
ue famem AB,C,D, a1 E # @
IR # faen § 21 A, Eden B# ue
¥ & wafE E, D& a4t 3 81 Daw C
of & o W 81 C % afft iR FF @
fererrerg @2

(a) D (b) A
(c) E (d B ]
Sol. (d) t__4 S rx B
D E A |B] c
— Right Left «—

Copyright © All Rights Reserved | https://spardha.guru/

s.\-w\

In a restaurant five guests
sitting in a row. Nita 1s left to
the Manju and right to the
Navin. Rishav is right to the
Kavita and left to the Navin,
Where is Navin sitting.

fordft T2ite o Oi= aifafy o o o 58
21 e, w9 # SR SR oqer A W
gt afr 21 frvra, Ffaar & 2/ qen 9=
F a4 d31 &, @ THA FE qa1 &7

(a) Right end/3u fat &

(b) Middle/w==

(c) left end/aiT fat @

(d) second to the right/=fT ¥ @@

(b kavlta Rlsha !‘ﬁ l\n;:eta I\-ian]u

-
”f&g}’r‘ Left «—
Six students’A, B, C, DE and F
St@ld:\‘n&;ul a ]_an B is between
F and.D. E is between A and C.
1§4{10t standing beside F and

\wa’ C is not standing beside D.

F 1s sitting between.

o famedfA, B, C,D, E, an F &
ufed d w2 &1 B, Faan D& weA ° 2
EATNCH A 281 A, Faq D
+ wme ° 7 w2 21 C, DF 9 #
& wg 21 F s we w212

() CandF

(b)) Band D

(c) Cand B

(d) None of these/378 ¥ =% &l
(c)

A E C F B D

Y Y M Y M
Five friends Suresh, Kaushal,
Madhur, Amit and Ramesh.
Suresh is smaller than Kaushal
but taller than Ramesh. Madhur
is tallest among them.Amit is
smaller than Kaushal but taller
than Suresh. If they are stand-
ing according to their height re-
spectively who 1s become small-
est among them.

e i g, Fwe, 9, Affa qen
T G, FE G BRI ag T
o B AR 3G9 H wag e
i, wiIve | BT € 9 G 9 ot
¥ Afx & s A ® oER we B
3 W T wEy B 22
Madhur > Kaushal > Amit >
Suresh > Ramesh/#4 > HIvel >
#fad > g > W
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23.

Sol.
Left/ North

A, B, C, D, E, F and G sitting on
a bench facing East. C is im-
mediate right of D. B is sitting
on any end and E is neighbour
of G. G is between E and F. D
1s 3rd to the south where 15 D
sitting.

A, B,C,D,E, Faar G o= W @
o & ju w R EHC, D& T
< 3R 21 B, fadl sifid 8RR 9 det &
M E,G#1 wEnft 1 G, Eam F &
7 | 1 D, afem faen 9 e wom W
£ @ D %@ 1 72

(a) CandF (b) Gand C

(c) Aand E

(d) None of these/z78 & =12 &
(a)

North

B

West East

South

oY W oe
VI v

Right/South
DOUELE ROW BASED QUESTION

24.

(11)

(111)
Sol.

230!

info@spardha.guru

& dferal wt smaia wen
Six friends P, Q, R, 8, T, U sit-
ting in a row some facing to-
wards North and some towards
South
T:3% P,Q,R, S, T, U t# dfa
W E v T T HE W A S
qd I F HE A0 A ) -.| 3
Q is facing towards North | \ut not
sitting next of S.
Q1 T =W a?( dFqg T s®
o %lcu;\*%

S

%x

Sand U
site dir c’;mfd

S 7o U faroft feom & #1

R 1s sitting next of U and
tacing towards south and T 1s
facing north side.

R, U & =iet © 921 & 991 361 5@ 30
fawn § & wod T %1 g@ Sw fewn # 2

fagonal oppo-

u R P
i) 1 1 South Facing
g 1 g Nerth Facing

Note: 5w w9 # double row =

25,

AR T
TF: South
facing ¥ @@ arrangement ¥ #W
North facing =19t = =11 =+ &=t
arrange Fin 3R left siet @ left
right =td @ Right sf#1 South
facing 3@ Row # ¥4
arrangement ¥ left =it @ 70 s
Right Shift %%

Twelve People are sitting in two

North facing #1%

parallel rows containing six
People each, in such a way that
there 1s equal distance between
adjacent persons. In row-1 B, C,
D, E, F and G are seated and all
of them are facing south. In
row-2 P, Q, R, S, T and U are
seated and all of them are
facing north. Therefore, in the
given seating arrangement,
each member seated in a row
faces another member of the

other row. (Please note: Nongfv?

G 39 fiead veE € D %1 g4, R
FI #X T 21 B, D % 3§ wH W
I 81 E, B wHe9 31 391 21 G W
H@ P#i s 7 &1 fa 9 | C 3 q@
ot 3R 21

Sol.
F E B C G D
LS A A A A A
o2 T 1 T T T Tm
s Q@ R P U
26. Five boys standing in a row and

of the information given m "~ Sol.

necessarily in the same o e{}w&

R sits second to the rightse

Only one person si be”t een
R and U.C&éﬁsﬂs 5 the
immediate left of @fa oé]e who
faces U. O[yff}t o people sit
between Ch 1 F. Q sits fourth
the tw,rof T. G 1s an
%tﬂ neighbour of the
who/faces T. D does not face

R”‘B “sits third to the right of D.

tO

A \Pi€ an immediate right of B. G

s f,ﬁbes not face P. Who amongst

the following is facing C?

12 =rfsa, St maia it |, 6 =afm
e o § U T W HEE g0 WS
#1 dfm-19,B,C,D,E, Faa G 42
I e e B L O
2 # P,Q,R, S, Tan U ¥
A et 7 @ IR F 3R W IEH
f Tt Sow wemen d§ 4F dfeEl @
TOF Al F1 qE F9 Ul &
=f # SR 1 (e T wg
AFFR AEIF T W TOH F0 § T2
7 TFA)

R, S% T T8 M W *31 € R 7
U % &9 $a9 T = o1 ¢ f9g
= w1 g@ U %1 sk &, 98 CH
= am 421 21 C A F & a4 Saa 2
=f 42 21 Q, T® &l = ©F W
a1 %1 o =afe 1 W@ T SRE,

27.

Sol.
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facing towards South. Anand is
standing immediate right of
Ramu. Chandan 1s between
Ramu and 8 n. No one
standing 1 E;Ihate nght of
Babu. Who ’1§"E{and1ng in ex-
act m1d¥§ of Row.

W&‘Wq’m o fEor F7 AR qE=m
a«'{% w3 Y o, T % g S e
%‘hw T 991 Gied ® 0 & 99 &

© g i s 3¢ 7l 1 ¥  Faeoe

e § #9 wa B
North

West East

South
South Facing

R ) {

Babu Anand Rafm Chandan Schan

Answer
TYPE—4 /2594

Hexagon based Question:-
Six people A, B, C, D, E and F
are seating on the ground in a
hexagonal shape. All the
shapes of hexagon so formed
are of same length. A 1s not
adjacent to B or C. D is not ad-
jacent to C or E. B and C are
adjacent F is the middle to D
and C ?
WA U I - T Al A,
B,C, D, E, 9 F ffdl w259 & 7%
fat w42 ¥ wys & wvdft e uw
A £ A, B C % Ha= 7 81 D,
CH E# 9ol 7 81 Baa C,F &
Hodeaa Da C& HeH § &7
Who is at the same distance from
Das Eis fromD?
o FH Wt & W DY e @ g
a1 € fae E, D 9 € Sa1 87
(@) B (
(c] D (

(c] A D B c

0
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